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https://www.100test.com/kao_ti2020/645/2021 2022 SCJP_E8 80
83 E8 AF 95 c104 645130.htm 1: Which two CANNOT directly
cause a thread to stop executing? (Choose Two) A.Existing from a
synchronized block B.Calling the wait method on an object
C.Calling notify method on an object D.Calling read method on an
InputStream object E.Calling the SetPriority method on a Thread
object Answerd ACLI [1 5501 2: public class SyncTest{ public static
void main(String[] args) { final StringBuffer s1= new StringBuffer().
final StringBuffer s2= new StringBuffer(). new Thread () { public
void run() { synchronized(sl) { s2.append(“ A” ).
synchronized(s2) { s2.append(* B” ). System.out.print(sl).
System.out.print(s2). } } } }.start(). new Thread() { public void run()
{ synchronized(s2) { s2.append(“ C” ).synchronized(sl) {
sl.append(* D” ). System.out.print(s2). System.out.print(sl). } } }
}.start(). } } Which two statements are true? (Choose Two) A. The
program prints“ ABBCAD” B. The program prints“ CDDACB
C. The program prints“ ADCBADBC” D. The outputisa
non-deterministic point because of a possible deadlock condition E.
The output is dependent on the threading model of the system the
program is running on. Answerl] DE 3: What will happen when you
attempt to compile and run the following code? public class Test{ int
| = 0. public static void main(String argv[]) { Test t = new Test().
t.myMethod(). } public void myMethod(){ while(true) { try { wait().
}catch (InterruptedExceptione) {}i.}} } A. Compile time error, no



matching notify within the method. B. Compile and run but an
infinite looping of the while method. C. Compilation and run
without any output. E. Runtime Exception
"lllegalMonitorStatException”. Answer: E Note: The wait/notify
protocol can only be used within code that is synchronized. In this
case calling code does not have a lock on the object(not
synchronized) and will thus cause an Exception at runtime. 4: 1.10
What is the result of compiling and executing the following code?
public class ThreadTest extends Thread { public void run() {
System.out.printin("In run"). yield(). System.out.printin("Leaving
run"). } public static void main(String args []) { (new
ThreadTest()).start(). } } A. The code fails to compile in the main()
method. B. The code fails to compile in the run() method. C. Only
the text "In run" will be displayed. D. The text "In run" followed by
"Leaving run" will be displayed. E. The code compiles correctly, but
nothing is displayed. Answer: D 100Test D D O O 0 O 0O O O O
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